
§·¤æ§ü / Unit-I

1. (a) çßÜæðÂÙ çßçÏ mæÚUæ ãUÜ ·¤èçÁ° Ñ

x – 5y = 11, 2x +3y = – 4

Solve by elimination method :

x – 5y = 11, 2x +3y = – 4

KJ-1191
B.Com. (Part - I)

Term End Examination, 2020

Group - B

Paper - I

Business Mathematics

Time : Three Hours] [Maximum Marks : 75
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Note : Answer all questions. The figures in the right-
hand margin indicate marks.
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(b) Îæð â¢BØæ¥æð´ ·¤æ Øæð» x® ãñUÐ ÕÇ¸Uè â¢BØæ
ÀUæðÅUè â¢BØæ ·ð¤ ÎêÙð âð vw ¥çÏ·¤ ãñUÐ â¢BØæ°¡
™ææÌ ·¤èçÁ°Ð
The sum of two numbers is 30. The
bigger number exceeds the double of
smaller number by 12. Find the numbers.

¥Íßæ / OR

çÙ`Ù ÚðU¹èØ Âý·ý¤×Ù â×SØæ ·¤æð »ýæÈ¤èØ çßçÏ
âð ãUÜ ·¤èçÁ° Ñ

‹ØêÙÌ× z = x + 3y

ÁÕç·¤ x + y  5

2x + y  4

x + 5y  5

x  3

y  3

ÌÍæ x, y  0

Solve the following linear programming
problem by graphic method :

Minimize z = x + 3y

Such that x + y  5

2x + y  4

x + 5y  5

x  3

y  3

and x, y  0

( 2 )
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( 3 )

§·¤æ§ü / Unit-II

2. (a) Üƒæé»‡æ·¤ âæÚU‡æè ·¤è âãUæØÌæ âð ×æÙ ™ææÌ
·¤èçÁ° Ñ

 43 45.37 .7692
Find out the value with the help of log
table :

 43 45.37 .7692

(b) ØçÎ A + C = B ãUæð, Ìæð C ·¤æ ×æÙ ™ææÌ
·¤èçÁ° ÁÕç·¤

1 4 5 9 4 7

2 0 6 8 2 1
A B

   
       

If A + C = B, then find the value of C,
where

1 4 5 9 4 7

2 0 6 8 2 1
A B

   
       

¥Íßæ / OR

ÜæŒÜðâ °ß¢ âæÚUâ çßçÏ mæÚUæ âæÚUç‡æ·¤ ·¤æ ×æÙ
™ææÌ ·¤èçÁ° Ñ

1 1 1

2 3 2

3 4 4
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( 4 )

Find the determinant by Laplace and Sarrus’s
method :

1 1 1

2 3 2

3 4 4

§·¤æ§ü / Unit-III

3. (a) °·¤ ÃØæÂæÚUè G y,}®®, { ÂýçÌàæÌ âæÏæÚU‡æ µØæÁ

·¤è ÎÚU âð ©UÏæÚU ÜðÌæ ãñU ¥æñÚU 
1

7
2

 ÂýçÌàæÌ ¿·ý¤Õëçh

µØæÁ ·¤è ÎÚU âð çÙßðàæ ·¤ÚUÌæ ãñUÐ ØçÎ ÌèÙ ßáæðZ
Ì·¤ ØãUè çSÍçÌ ÚUãðU Ìæð ÕÌæ§° ©Uâð @Øæ ÜæÖ ãéU¥æ?

A merchant borrows G 4,800 @ 6% simple

interest and invests at 
1

7 %
2

 compound

interest. If the transaction is closed at the
end of three years, what is his gain ?

(b) ç·¤ÌÙð ßáæðZ ×ð´ z' ÂýçÌßáü µØæÁ ·¤è ÎÚU âð
G v,w®® ·¤æ ¿·ý¤ßëçh µØæÁ G z|x ãUæð ÁæØð»æ
ØçÎ µØæÁ ·¤è »‡æÙæ ÂýçÌ ßáü ·¤è ÁæÌè ãñUÐ

In what time a sum of G 1,200 will earn

G 573 as compound interest at the rate of 5%
per annum if the interest is calculated
annually.

¥Íßæ / OR
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(a) ·¤æð§ü ÏÙ 
2

4
3

 ßáü ×ð´ 
1

10 %
2

 ßæçáü·¤ âæÏæÚU‡æ

µØæÁ ·¤è ÎÚU âð G x,z|{ ãUæð ÁæÌæ ãñUÐ §âè

ÎÚU ÂÚU ç·¤ÌÙð â×Ø ×ð´ ØãU ¥ÂÙæ 
5

2
 »éÙæ

ãUæð ÁæØð»æ?
A sum of money amounted to G 3,576 in

2
4

3
 years at 

1
10 %

2
 simple interest per

annum. When will it be 
5

2
 times itself

at the same rate ?

(b) G w,®®® ·¤è { ßáèüØ ÎðØ ßæçáü·¤è ·¤æ ~'
ßæçáü·¤ ·¤è ÎÚU âð ßÌü×æÙ ×êËØ ™ææÌ ·¤èçÁ°
ÁÕç·¤ Öé»ÌæÙ ßæçáü·¤ ãUæðÐ

Find the present value of annuity due of

G 2,000 for 6 years at 9% per annum,
when it is paid annually.

§·¤æ§ü / Unit-IV

4. (a) °·¤ Õ@âð ×ð´ G v, z® Âñâð, ÌÍæ wz Âñâð ·ð¤
çâ@·ð¤ yÑzÑ{ ·ð¤ ¥ÙéÂæÌ ×ð´ ãñ´ UÐ ·é¤Ü ç×Üæ·¤ÚU
çâ@·ð¤ G {y ×êËØ ·ð¤ ãñ´ UÐ ÂýˆØð·¤ Âý·¤æÚU ·ð¤
çâ@·¤æð´ ·¤è â¢BØæ ÕÌæ§°Ð

( 5 )
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In a cash-box there are coins worth G 64.
The ratio between G 1, 50 paise and 25
paise coins as per their number is 4:5:6.
Find the total numbers of coins of each
denomination.

(b) y ¥æÎ×è Øæ vw ¥æñÚUÌð´ °·¤ ·¤æ× ·¤æð } ƒæ‡ÅðU
ÂýçÌçÎÙ ·¤æ× ·¤ÚU·ð¤ z çÎÙ ×ð´ â×æŒÌ ·¤ÚU
â·¤Ìð ãñ´UÐ w ¥æÎ×è ÌÍæ y ¥æñÚUÌð´ v® ƒæ‡ÅðU
ÂýçÌçÎÙ ·¤æ× ·¤ÚU·ð¤ ç·¤ÌÙð çÎÙ ×ð´ ©Uâè ·¤æ×
·¤æð â×æŒÌ ·¤ÚU â·¤Ìð ãñ´ U?
4 men or 12 women can do a job in 5
days by working 8 hours per day. In how
many days 2 men and 4 women can do
the same job by working 10 hours per
day ?

¥Íßæ / OR

(a) Üæð·¤ âðßæ ¥æØæð» mæÚUæ Üè »Øè ÂÚUèÿææ ×ð´
çÇUŒÅUè ·¤Üð@ÅUÚU ·ð¤ ÂÎ ·ð¤ çÜ° ·é¤Ü z®
©U`×èÎßæÚU âç`×çÜÌ ÍðÐ ©U‹ãUæð´Ùð ¥æñâÌ y|
¥¢·¤ ÂýæŒÌ ç·¤°Ð ©Uîæè‡æü ©U`×èÎßæÚUæð ´ ·ð¤ ¥æñâÌ
ÂýæŒÌæ¢·¤ |y Íð ÁÕç·¤ ¥Ùéîæè‡æü ©U`×èÎßæÚUæð ´ ·ð¤
¥æñâÌ ÂýæŒÌæ¢·¤ yy ÍðÐ ÕÌæ§° ç·¤ ç·¤ÌÙð
ÂýçÌàæÌ ©U`×èÎßæÚU çÇUŒÅUè ·¤Üð@ÅUÚU ·ð¤ çÜ°
Øæð‚Ø âæçÕÌ ãéU°?
50 candidates appeared in an examination
conducted by Public Service Commission
for the post of Deputy Collector. They

( 6 )
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secured an average of 47 marks each. The
average marks obtained by successful
candidates were 74 whereas the average
marks obtained by unsuccessful candidates
were 44. What percent of candidates were
successful for the post of Deputy Collector ?

(b) °·¤ ÎêÏ ßæÜð ·ð¤ Âæâ Îæð Âý·¤æÚU ·¤æ ÎêÏ ãñUÐ °·¤
Âý·¤æÚU ·ð¤ ÎêÏ ×ð´ v®' ÂæÙè ãñU ÌÍæ ÎêâÚðU ×ð´ w®'
ÂæÙè ãñUÐ ØçÎ ßãU ÂãUÜð Âý·¤æÚU ·ð¤ ÎêÏ ×ð´ âð ~®
ÜèÅUÚU ¥æñÚU ÎêâÚðU ×ð´ âð {®  ÜèÅUÚU ÎêÏ Üð·¤ÚU °·¤
ÙØæ ç×Ÿæ‡æ ÌñØæÚU ·¤Úð Ìæð §â ÙßèÙ ç×Ÿæ‡æ ×ð´
ÂæÙè ·¤æ ç·¤ÌÙæ ÂýçÌàæÌ ãUæð»æ?
A milkman has two types of milk. In one
the percentage of water is 10% and in the
second the percentage of water is 20%. If
he takes 90 liters of milk of type I and 60
liters of milk of type II and prepare a new
mixture. What is the percentage of water
in this new mixture ?

§·¤æ§ü / Unit-V

5. (a) °·¤ ÂðÙ G vv ×ð´ Õð¿æ ÁæÌæ ãñU ¥æñÚU ©Uâ ÂÚU
©UÌÙð ãUè ÂýçÌàæÌ ÜæÖ ãUæðÌæ ãñU çÁÌÙð ×ð´ ©Uâð
·ý¤Ø ç·¤Øæ »Øæ ÍæÐ §â·¤æ ·ý¤Ø ×êËØ ™ææÌ
·¤èçÁ°Ð
A pen is sold for G 11 and makes the
same percentage of profit for which it
was purchased. Find its purchase price.

( 7 )
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(b) ç×SÅUÚU ÎèÂ·¤ ·¤æð Ù·¤Î çÕ·ý¤è ÂÚU z' ¥æñÚU
©UÏæÚU çÕ·ý¤è ÂÚU y' ·¤×èàæÙ çÎØæ ÁæÌæ ãñUÐ
ØçÎ G z®,®®® ·¤è ·é¤Ü çÕ·ý¤è ÂÚU ©Uâð
G w,y®® çÎ° ÁæÌð ãñ´U Ìæð Ù·¤Î °ß¢ ©UÏæÚU
çÕ·ý¤è ·¤è ÚUæçàæ ™ææÌ ·¤èçÁ°Ð

Mr. Deepak is paid commission of 5% on
cash sales and 4% on credit sales. If on a

total sales of G 50,000 he is paid G 2,400,

find the amount of cash and credit sales.

¥Íßæ / OR

°·¤ Âý·¤æàæ·¤ Ùð °·¤ ÂéSÌ·¤ ·¤è w®®® ÂýçÌØæ¢
G wy,®®® ×ð´ ÀUæÂèÐ ßãU z®® ÂýçÌØæ¢ ×éRÌ
çßÖæ»æŠØÿææð´ ·¤æð ÖðÁ ÎðÌæ ãñUÐ ßãU çÜ¹ð ×êËØ ÂÚU
wz' ·¤×èàæÙ ÌÍæ ÂýˆØð·¤ wy ÂýçÌØæð´ ÂÚU v ÂýçÌ
×éRÌ çß·ýð¤Ìæ ·¤æð ÎðÌæ ãñUÐ §â Âý·¤æÚU ßãU âÖè
ÂýçÌØæ¡ â×æŒÌ ·¤ÚU ÎðÌæ ãñUÐ ØçÎ ÂéSÌ·¤  ÂÚU çÜ¹æ
×êËØ x®.wz ãñU, Ìæð ÂýçÌàæÌ ÜæÖ Øæ ãUæçÙ ÕÌæ§°Ð

A publisher printed 2000 copies of a book at

the cost price G 24,000. He sends 500 copies
to head of department free of cost. He gives
to the seller 25% commission on the marked
price and one copy free for each twenty four
copies sold. In this way all the copies are
exhausted. If the marked price on the book is
G 30.25. Find the gain or loss percent.

———

( 8 )
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